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4. Prove that every subgroup of (Z,+) is cyclic. I want a complete proof. “We

did this in class” and “This follows from a Theorem we proved in class” are not
good enough.

fv}“ H be @« 9‘142wf-f/‘1: . Tf ﬁ#
Hi crclic. OTlobeise ij hgs some
Pon‘*l‘f‘ue eleeneaTs P fgf }f; be

2% Sm((cgi- Jogtier elewacat (4 H
T will poe Tt 12470
T4 |9 clea hyt <4y <H.

T tise Showr H S<ble Tole ffjm"
av Lijravy efesseat O f. vise
fo see faut ) 'zqfi1r for
Soeme | ateqole qaud \ wila

OL ret=l

e

Q(—ﬁff—V (s fa H Tﬂyvbi”?«})
2'=qq e<8y aqd H ol
Cyelic Glogr < 6>



